
 

Résoudre les équations suivantes

al 11 7 147 11 3

voleur frontières

t 0 71 2

411 1 0 71

Définitions 7 si 77 7

7 7 Si 111 7

411 1

7 1

414 si 71 C 1
Tableau

is t f 0

7 7 7 0 11 7 11 7

471 1 47 1 471 1 0 411 1

t a t f un 1 3 9 7 f ha11 3 71 7 Chiti 3

Ian 3 las 2 Car l

tas 1 71

7 411 1 3 71 7 411 1 3 7 1

31 3 7 1 3 971 L OK

Cas 2 7 a C 1



7 7 4 1 3 a 47 1 3

57 8 3 57 5 À 1 Ok

cas 3 71 7

1 11 7 4 1 3 p a 7 ha 1 3

31 6 3 32 9 3 NON

car doit

êtreC 7

Donc S 1 13



b 11 7 147 11 3

voleur frontières

2 7 0 2

411 1 0 71

Définitions 7 si 77 7

7 7 Si 111 7

421 1

4 1 si 71C

Tableau

is t 0

7 7 7 0 11 7 11 7

471 1 47 1 471 1 0 411 1

t a t f anti 3 9 7 fhutt 3 71 7 f411 il 3

Ian 3 las 2 Car l

tard 717 1
7 1411 1 3 71 7 411 1 3 7 1

31 3 7 1 5 911 OK



Cas 2 7 a C

7 ha 1 3 47 1 3

5 6 3 52 3 OK

cas 3 71 7

1 11 7 4 1 3 p a 7 ha 1 3

3 8 3 32 11 NON ÀÉliminer
car doit

êtreC 7

Donc 5 4 7 53


